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ATTEMPT ANY 6:

1) If 2cos%0 + 3cosO = 2, then find cosé.

 cin? 2 (M) 1 cin2 (B 4 cin2 ()
2) Evaluate: sin“0 + sin (6) + sin (3) + sin (2)
3) Evaluate: 4. cot45° — sec? 60° + sin?30°,

4) Find the trigonometric functions of angle in standard position whose terminal
arm passes through (-7, -24).

5) If SiI;A = SizB = % , Where A and B are angles in the second quadrant, then find
the value of 4 cos A + 3 cos B.

. secx+1 1
6) Prove the following: / = :
secx—1 cosecx—cotx

7)If x =1r.cosB.cos®, y =r.cosf.sin®, z = r.sin6, then show that x? +

y? +z2 =72,

8) Prove the following: V2. sin G + 6) = cos0 + sinf.

1+tanf
1-tanf

9) Prove the following: tan G + @) =

10) Prove that: If 2sin (9 + g) = oS (9 — %) ,then tanf ++/3 =0



